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Quiz Date: 18th March 2020 

Directions (1-7): Two columns are given in each question and each column has three parts of a 
sentence. Choose the most suitable pair, which makes a grammatically correct and contextually 
coherent statement. 
 
Q1.  
Column (1): 
(A) The RBI would providing the  
(B) Currently the Hospital is not  
(C) Wilson had given concerts in Sydney and  
 
Column (2): 
(D) Necessity liquidity support to the bank 
(E) Test everyone who are symptomatic 
(F) Brisbane before testing positive for COVID-19 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
 
Q2.  
Column (1): 
(A) The government has proposed a set of social  
(B) SC ordered that both male and female officers  
(C) India’s stock market are reeling under  
 
Column (2): 
(D) The weight of huge net short positions 
(E) Distancing measures to be in force till March 31 
(F) Should treat equally in Indian Navy 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
 
Q3.  
Column (1): 
(A) The RBI needs to admit that it hasn’t done enough  
(B) Regulators across the globe are leaving no stone unturned  
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(C) The US Federal Reserve has slashed  
 
Column (2): 
(D) Rates to tackle the coronavirus outbreak 
(E) To assuages sentiments and stem the decline 
(F) To curbed the rampant mis-selling by banks 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
 
Q4.  
Column (1): 
(A) The dilemma for India’s central bank is not as dire 
(B) The RBI has view trade in bitcoin and  
(C) Harry’s sick to his stomach about these  
 
Column (2): 
(D) Other cryptocurrencies with extremely suspicion 
(E) Give that its policy rates are on a pause 
(F) New revelations, and finds them all so demeaning and humiliating 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
 
Q5.  
Column (1): 
(A) The China court ruling that gave copyright protection to  
(B) The advantages of disaggregated 
(C) The equity market is one segment of the  
 
Column (2): 
(D) AI-generated content opening many door 
(E) Economy appears in good health 
(F) Retail have been underestimated 
 
(a) A-E  
(b) B-F 
(c) C-F  
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(d) C-D 
(e) None of these 
 
Q6.  
Column (1): 
(A) The price of domestic gas is lower  
(B) The anxiety of the petitioners should ideally  
(C) Statutory auditors have played a central  
 
Column (2): 
(D) Have addressed by the Government 
(E) Then that of gas imports into India 
(F) Role in the recent string of corporate scandals 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
 
Q7. 
Column (1): 
(A) The regulators should adopt a soft 
(B) SBI has abolished the minimum  
(C) If we are to move toward a digital, less-cash  
 
Column (2): 
(D) Economy, we must ATMs scarce. 
(E) Approach, focusing on specific malpractices 
(F) Balance requires on savings bank accounts 
 
(a) A-E  
(b) B-F 
(c) C-F  
(d) C-D 
(e) None of these 
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Directions (8-15): In each of the following questions, a sentence is given with a blank. There are 
five phrasal verbs given below each sentence, one out of which can be used in the blank to form a 
meaningful sentence. Choose the most appropriate idiom among the five options that makes the 
sentence contextually meaningful. 
 
Q8. As coronavirus closes businesses, health-care facilities ___________ elective surgery. 
(a) Grow up  
(b) break down  
(c) go ahead 
(d) Cut Back on  
(e) come apart 
 
Q9. Whether traveling to work or stocking up on groceries, most Angelenos still need to 
___________ the city. 
(a) Get back into  
(b) Get around   
(c) Get away  
(d) Find out  
(e) Get on  
 
Q10. After fans ___________on Riverdale, they'll be looking for something to watch next. 
(a) Break out  
(b) Look into  
(c) Fill in  
(d) Catch up  
(e) Eat out  
 
Q11. Most newspaper owners in our country have no way to ___________the government as 
they have to protect their businesses. 
(a) Get away with  
(b) Go over  
(c) Go against  
(d) Give in  
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(e) Go after  
 
Q12. Churchill Show losses ___________millions as recording done without audience. 
(a) Check out  
(b) Drop out  
(c) Fill in  
(d) Get together  
(e) Run into  
 
Q13. The chemical coating helps repel fingerprints and other grubby paw marks, but it can 
___________quite quickly. 
(a) Catch up  
(b) Get over  
(c) Use up  
(d) Warm up  
(e) Wear off  
 
Q14. The way you approach someone and ___________for a date makes for an important aspect 
of the entire dating world. 
(a) Ask out 
(b) Blow up  
(c) Work out  
(d) Break into 
(e) Break in 
 
Q15. If you ___________, in the year 2000 the company announced everyday free shipping to 
the industry and it was considered ridiculous and unsustainable.  
(a) Think back  
(b) Bring up  
(c) Tear up 
(d) Calm down  
(e) Take off  
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Solutions 

S1. Ans. (c)  
Sol. C-F is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is:  
Wilson had given concerts in Sydney and Brisbane before testing positive for COVID-19 
Hence, option (c) is the right answer choice.  
 
S2. Ans. (a) 
Sol. A-E is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is: 
The government has proposed a set of social distancing measures to be in force till March 31.  
Hence, option (a) is the right answer choice.  
 
S3. Ans. (d) 
Sol. C-D is the most suitable pair which makes a grammatically correct and contextually 
coherent statement. The sentence thus formed is: 
The US Federal Reserve has slashed rates to tackle the coronavirus outbreak. 
Hence, option (d) is the right answer choice.  
 
S4. Ans. (c)  
Sol. C-F is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is: 
Harry’s sick to his stomach about these new revelations, and finds them all so demeaning and 
humiliating.  
Hence, option (c) is the right answer choice.  
 
S5. Ans. (b) 
Sol. B-F is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is: 
The advantages of disaggregated retail have been underestimated.  
Hence, option (b) is the right answer choice.  
 
S6. Ans. (c)  
Sol. C-F is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is: 
Statutory auditors have played a central role in the recent string of corporate scandals 
Hence, option (c) is the right answer choice.  
 
S7. Ans. (a) 
Sol. A-E is the most suitable pair which makes a grammatically correct and contextually coherent 
statement. The sentence thus formed is: 
The regulators should adopt a soft approach, focusing on specific malpractices. 
Hence, option (a) is the right answer choice.  
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S8. Ans. (d) 
Sol. Cut back on means an act or instance of reducing something, especially expenditure. 
Grow up- Become an adult  
Hand in- Submit  
Count on- Rely on  
Call on- demand that (someone) do something. Hence, option (c) is the right answer choice.  
Hence, option (d) is the right answer choice.  
 
S9. Ans. (b) 
Sol. Get around means Have mobility or you visit a lot of different places as part of your way of 
life. 
Get on- Step onto a vehicle  
Get away- Go on a vacation  
Find out- Discover  
Get back into-start doing something again.  
Hence, option (b) is the right answer choice.  
 
S10. Ans. (d) 
Sol. Catch up means an act of catching up or matching someone or something in a particular 
activity. 
Break out- Escape 
Catch up- Get to the same point as somebody else  
Eat out- Eat at a restaurant  
Fill in- to do the work of someone else for a short time 
Look into-to try to discover the facts about something such as a problem or a crime.  
Hence, option (d) is the right answer choice.  

S11. Ans. (c)  
Sol. Go against means oppose or resist. 
Get away with- do without being noticed or punished  
Go over- Review or visit somebody nearby  
Go after- Try to achieve something  
Give in- to yield under insistence or entreaty: surrender.  
Hence, option (c) is the right answer choice.  
 
S12. Ans. (e)  
Sol. Run into means reach (a level or amount). 
Check out- Leave a hotel  
Drop out- Quit a class  
Fill in- to write information on blanks  
Get together- Meet  
Hence, option (e) is the right answer choice.  
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S13. Ans. (e)  
Sol. Wear off means lose effectiveness or intensity. 
Warm up- Increase the temperature  
Catch up- Get to the same point as somebody else  
Get over- Overcome a problem or Recover from an illness 
Use up- to use all of a supply of something 
Hence, option (e) is the right answer choice.  
 
S14. Ans. (a) 
Sol. Ask out means to invite someone to go with you to a cinema, restaurant etc because you want 
to start a romantic or sexual relationship with them. 
Blow up- Add air, or explode  
Break into- Enter forcibly  
Break in- Interrupt or  
Work out-manage to do something. 
Hence, option (a) is the right answer choice.  
 
S15. Ans. (a) 
Sol. Think back means recall a past event or time. 
Bring up- Start talking about a subject  
Calm down- Relax after being angry 
Take off- Remove something or Start to fly 
Tear up-To destroy or severely damage something.  
Hence, option (a) is the right answer choice.  
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